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1. Describe the problems faced by the Weimar Republic.  
 
Answer- The defeat of Imperial Germany at the hands of the 
Allied powers in World War I led to the abdication of the 
emperor Wilhelm II. This gave an opportunity to parliamentary 
parties to recast the German polity. 
 
Thus, a National Assembly met at the town of Weimar to form 
a republic with a democratic constitution and a federal 
structure. But this newborn republic was not well received by 
its own people for the following reasons: 
 
(I) The Allied imposed a harsh and humiliating treaty at 
Versailles, which squarely placed the blame of starting World 
War I on Germany’s soldiers. It was the Weimar Republic that 
signed the treaty much to the displeasure of the German 
populace. 
 
(II) Germany lost all of its overseas colonies and a tenth of its 
population, along with 75% of its iron and 26% of its coal to 
France, Poland, Denmark and Lithuania. 
 



(III) The War Guilt Clause held Germany responsible for the 
war and the subsequent damage it caused in the Allied 
nations. They were forced to pay compensation of £6 billion in 
total. Due to the loss of most of its revenue-generating 
colonies, Germany was unable to repay the amount. 
 
(IV) Due to the failure to pay compensation, the Allied Armies 
occupied the resource-rich Rhineland for a time. The Weimar 
Republic reacted to this by printing paper currency in large 
numbers to pay off the huge debt. This led to hyperinflation 
and the eventual collapse of the economy. 
 
(V) Coupled with the humiliation of a foreign power occupying 
German territory and economic collapse, the German public 
held the new Weimar Republic responsible for the defeat in 
world war I and accepting the disgrace at Versailles. 
 
2. Discuss why Nazism became popular in Germany by 1930. 
 
Answer- The end of World War I had changed the political 
landscape of Germany. Right from the beginning, the infant 
Weimar Republic was beset by problems. 
 
(I) The harsh Versailles Treaty was a serious blow to the 
national prestige of the Germans and to the economy. 
 
(II) The economic situation was worsened by the Great 
Depression of 1929, which had severely affected the already 



fragile German economy. The inability of the Weimar Republic 
to remedy the situation only further inflamed public 
sentiments. 
 
(III) The political scenario was not any better as the various 
political factions, such as the communists and socialists 
fought with each other that stalled any policy that would uplift 
the plight of the German people. 
 
(IV) It was in this background that Hitler would organise the 
fledgling National Socialist German Worker’s party, otherwise 
known as the Nazi party into a mass movement. 
 
(V) By implementing Nazi ideals, Hitler promised to undo the 
injustice of the Versailles treaty and restore the dignity of the 
German people, promising economic security and to build a 
strong German nation free from all foreign influences and 
‘conspiracies’. 
 
(VI) He found strong support among the German middle 
class, who were threatened with destitution due to economic 
collapse that had shut down banks, businesses and factories. 
 
(VII) Nazi propaganda, along with Hitler’s powerful oratory 
skills, successfully portrayed Hitler as a saviour and Nazism 
as the means to deliver the German people from the distress 
of living in a time of acute economic and political crisis. 
 



3. What are the peculiar features of Nazi thinking? 
 
Answer- The Nazi thinking was synonymous with Hitler’s 
world view. The features of such thinking are : 
 
(I) There was no equality among the human race, only a racial 
hierarchy – with the blonde, blue-eyed, Nordic German 
Aryans being at the top and the Jews being placed at the 
bottom level. All the other coloured people were placed 
somewhere in between, depending on their external features. 
 
(II) The other aspect of Nazi ideology was the concept of 
Lebensraum or living space. It was believed that new 
territories had to be acquired at the expense of the local 
population in order to enhance material resources and the 
power of the German nation. 
 
(III) They believed in the survival of the fittest, which was a 
twisted version of Charles Darwin theory about natural 
selection. In their version, they believed that the strongest 
race would survive, while the weak would perish. 
 
(IV) Nazi thinking put much emphasis on ‘racial purity’. This 
meant that anyone born with physical and mental disabilities 
was considered ‘undesirable’ and impure. Allowing their 
existence would only pollute the German race and hence they 
had no right to exist. Along with Jews, Gypsies, Slavic and 



blacks were all considered subhuman and executed in large 
numbers under the shadow of World War II. 
 
(V) Nazis believed in war and aggression. Any notion of 
peace or related ideologies were considered weak by their 
standards. They believed that world domination through war 
justified in proving the superiority of the German race. 
 
 


